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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL F 5 59799 § GRa g 7 oy g7 12 8

Please make sure that the printed pages in this question paper of Part-I are 7 in
number and it contains 12 questions.
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® 97y 4 alfe7 & #l GiiT [/ 17 HE TV F HH TACYRAHE F JEI-gT GT [rd)

The Code No. on the right side of the question paper should be written by the

candidate on the front page of the answer-book.
o PUY JHT F FH [GGT G BT G Y&, JIT F FHH I iG]

Before beginning to answer a question, its Serial Number must be written.
o JUCYRTH % dF T @l g1/ G T 8iS

Don’t leave blank page/pages in your answer-book.

o FUTGRaE & SR g o e T A o SEvEmagar & g e frar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT T A [ F979H §U T 7el 8, Y F YU 39
T 7 g o qrar w&hHe T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :

() @ g7 Aart &

All questions are compulsory.
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(i) HEF FIT & 7% ITH @7 T TT &

Marks of each question are indicated against it.
(iii) STY% FAT STEITAT &7 2T

Your answer should be according to marks.

[ ot g ST 999 ]

[Very Short Answer Type Questions ]

TF A A T M AR N @ & 8 @ N, CCP EW&Al &9/ & X M & WA
WW%%W@&WW%WW@W%? 2

A compound is formed by two elements M and N. The element N forms CCP
and atoms of M occupy % of tetrahedral voids. What is the formula of

compound ?

TN B B U A § d@ 9 a "@i§ HNO, 9N # 3t § HNO; & 68%
S e § A 39 R @ e | 1.504 gm L7 @, @ o)A & 39 T &l AR
e 7 2

Concentrated HNOjzused in laboratory work is 68% HNO3;by mass in aqueous
solution. What should be the molarity of such a sample of acid if density of

solution is 1.504 gm L'

114g offaed & Fpell otarusiie faeid (MAX &M 40 g mol™!) @i fha=l AEN oiw T {6
HfFe & O &9 HC HL oA H 80% (& Y 2

Calculate the mass of a non-volatile (Molar-mass 40 g mol™') which should be

dissolved in 114 g octane to reduce its vapour pressure to 80%.

P.T.0O.
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4. UIH Hf H ANCHIRA & 3T Reh 500 sec™ § FEY & TOFT i) 2

Calculate the half life of a first order reaction from rate constant 500 sec..

5. AN SHMEe e stk #@r ? ? 2

What is Hoffmann bromamide degradation reaction ?

[ @Y S99 97 |

[ Short Answer Type Questions ]

6. CuSO, & fa@ad ® 1.5 WRER % a)1 § 10 BT 0% Jg0 JTwEied fhar mm dds |
e SHIIX # §emE /M a8 ¢ (Cub3?) 3

A solution of CuSO, is electrolysed for 10 minutes with a current of 1.5

amperes. What is mass of copper deposited at Cathode ? (Cu63'5)

7. TEAH Ud JEalH HicNgs H T A=K § ! Tdh B Th-UH &L A 3

What is difference between multimolecular and macromolecular colloids ? Give

one example of each.

8. HRU Ad EU TR HIT FHA o1gY TN b A ANH IaH IS H B B ol 3

Explain giving reasons transition metals and their many compounds act as

good catalyst.
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9. 1 BT ¥, 99 : 3
(A) TR FaREE @ T Siefig KOH & &t © ?
(B) &b 39X H SURART & ARG s &l Aiiear Mifsad § &l o ?
(C) AR FANES & AR KCN | 2t 8 ?

What happens, when :
(A) Ethyl Chloride is treated with aqueous KOH
(B) Methyl bromide is treated with Na in presence of dry ether.

(C) Methyl Chloride is treated with KCN.

10. TN & SierEio 8 T o< e il ehaa iy i 3
Write the Mechanism of hydration of ethene to yield ethanol.

[ S SUT U |

[ Long Answer Type Questions ]

11. () H,S, HyTe %l U H9 <G Ff & 7 1

H,S s less acidic than H,Te. Why ?

(i) SMIMAT &I Al B T & [T TATS A H1 qUN P 2

Mention the conditions required to Maximise the yield of ammonia.

229/1 P.T.0O.
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(iii)

@)

(i)

(iii)

(6)
SIS & ST FAER &l AT BT

Describe anomalous behaviour of Oxygen.

AYqT

OR

TR H HH-T1 BT AJYTHA FAER FERIA HIA & 7

Which form of sulphur shows paramagnetic behaviour ?

ertfetie e Ten i qa FIfoq
Complete the following equations :

(@) Cu+4HNO; —
(Conc.)

(b) 2NaOH + SO, —
(c) NHj + 3Cl,(excess) —

4-STFAIeT B G TR

Draw structure of 4-Oxopentanal.

TABIATE SAfeienl TR 1 AR HifoTT)

Describe Hell-Volhard-Zelinsky reaction.

UeSil GE=e SAFha 1 auie SifoTq

Describe Aldol condensation reaction.
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YqT

OR

(i) S H THRBHE | gRafdd i) 1

Convert Benzene to acetophenone.

(ii) SO @l 9N § gRafaa i 2

Convert Propanone to Propene

(i) VAT BT 3- FESFAHLA § URAkR i) 2

Convert Ethanol to 3-Hydroxybutanal.

229/1
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o FUT T F T [ G % 5 Je7-0 § FRT §T 8 74T 5797 35 &1

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o ghereff orgar T To FIT-UA T 9T [rd)

Candidates must write their Roll Number on the question paper.

o FYI o7 F FAT &7 @ [@ IF GARaT F d [F FeT0T {7 T Tal &, GORT B I 5G
W#ﬁﬁwwﬁaﬁwm 7

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ geT et &

All questions are compulsory.
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(i) F97 F% 1 @ 35 TH JEGTT Jo7 &1 J9% FoT 1 5% T &1

Questions from 1 to 35 are objective type questions. Each question is of

1 mark.
1. BCC Zaeq | @il S foha wfaed & 7 1
(A)  74% (B) 68%
(C) 32% (D) 26%

Percentage of empty space in a BCC arrangement is :

(A)  74% (B) 68%
(C) 32% (D) 26%

2. B I H ARIAd S 1
(A) 20 (B) 18
(€) 10 (D) 55.5

The molality of pure water is :

(A) 20 (B) 18
(€C) 10 (D) 55.5

3. Cu/Cu®"//Ag" ] Ag a7 e & fog - 1
(A) NS B &I H Cu (B) 3¢ & &I H Ag
(C) AgTh SHTEFIHT HH o (D) IR & & i Tel

For the given cell reaction : Cu/Cu?"//Ag" | Ag
(A) Cu as cathode (B) Agas cathode

(C) Ag as oxidising agent (D) None of the above

229/ 1l
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4. [ 97 Remiss | Aishar @1 #ife S T K =2.6x10 *mol L' ™! 1
(A) T¥H B) A
(©) fadim (D) g T T
Identify the order of reaction from given rate constant K =2.6x10 *mol L™'s™!
(A) First (B) Zero
(C) Second (D) None of these
5. SEI-go W & AR 1 § | Rpeahl SO &ar waite © ¢ 1
A) A3t (B) Ba?"
(C) Na* (D) K*

According to Hardy-Schulze rule, which of the following has highest
flocculating power ?

A) ALY (B) Ba?"
(C) Na* (D) K*
6. e A § T8 &9 Faudis fFaw 2 ? 1
(A)  HjySe (B) Hj,Te
(C) H,0 (D) H,S

In the following compounds which has minimum boiling point ?

(A) HjySe (B) HyTe
(€) Hy0 (D)  HyS
7. 1 A SO © 1

(A) PHj4 (B) BiH;

(C) SbHj; (D) AsHj;

In the following strongest reducing agent is :

(A) PHj4 (B) BiH;

(C) SbHj; (D) AsHj;

229/11 P.T.0O.
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8. f=ifRa oM & HN-11 oy oo § TR § 7 1
(A) Fe?* (B) Mn?*
©) Tt (D) Sc3*
Which of the following ion is colourless in aqueous solution ?
(A) Fe?* (B) Mn?*
©) Tt (D) Sc3*
9. [y o1 H U HIE T BNl 7 1
(A) Pt (B) Os
€ w (D) Hg

Which Metal has highest density ?

(A) Pt (B) Os
© w (D) Hg
10. AR [Co(NH3)g|Cl ¥ Sudesdiom # erlt ? 1
A) 3 (B) 4
C) 6 (D) 2
What is the Co-ordination number in the [Co(NH3)g|Cls Compound ?
(A) 3 (B) 4
C) 6 (D) 2
11. [Cr(H,0)g|Cl; § iffaw & aiferiiseer T ® - 1
(A) +4 (B) +3
€) -3 (D) +2

The Oxidation number of chromium in [Cr(H,0)g|Cl; is :
(A) +4 B) +3

€) -3 (D) +2

229/ 1l
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12. FEFE ARE NSy ° B & gl @R s s @ ¢ 1
(A) CHj;-ClI (B) (CHj),CH —CI
(C) (CH3);C-Cl (D) SYUH ¥ | HiE el

Organic compound which shows complete stereochemical inversion during
SN2 reaction :

(A) CH;-Cl (B) (CH3),CH —-Cl
(C) (CHj3)3C-Cl (D) None of the above
13. =i § a9 st o=ty © ? 1
(A) S Ueehled (B) WEFiIeFAI
(C) W (D) M-FARIGH
Which of the following is most acidic ?
(A) Benzylalcohol (B) Cyclohexanol
(C) Phenol (D) M-Chlorophenol
14. Rt dwwr Frefafad & Reaem s & fafy & 2 1
(A) TehiET (B) TN
(C) e (D) g
Williamson Synthesis is used to prepare :
(A) Alcohol (B) Amine
(C) Ketone (D) Ether
15. Qe o<1 & IUPAC M & : 1
(A) N o B) frea
(C) 2-FemH (D) MRS o
IUPAC name of Acetic acid :
(A) Ethanoic acid (B) Methanal
(C) 2-Pentanone (D) Methanoic acid

229/11 P.T.0O.
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20.
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frfed & 3° T - 2 7

() ARmEEN (B) ETEURR THH
(C) R D)t
Which of the following is a 3°-amine ?

(A) Methylamine (B) Triethyl amine
(C) Ethylamine (D) t-butylamine
frferad & & HF-91 &% DNA # & ok RNA & 78 ?

(A) & (B) W

(©) FHE (D) W=

Which base is present in DNA but not in RNA ?

(A) Thyamine (B) Cytosine

(C) Uracil (D) Guanine
frfoiad & AMRHUES 97 B 78 © 7

(A) TR (B) SR

(©) st (D) st

In the following which is not a Monosaccharide sugar ?
(A) Glucose (B) Fructose

(C) Mannose (D) Maltose
sfieehl 3T 1 & 7

What is Schottky defect ?

Uchlelel U Sfct & U foeras § anfvees r=aiwafhan &l & qiHe & ?

229

1

What role does the Molecular interaction play in a solution of alcohol and

water ?
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22.

23.

24.

25.

26.

27.

28.

29.

30.
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oo g ST B ¢

What is a weak electrolyte ?

T I bl GRHANIT ifoTd

Define collision frequency.

Frarzel W@ 7 & fga o/ yaed & Sl 8, O @@ Jerer e ?

What is observed when electric current passed through a colloidal sol.

forre @ B ?
What are ligands ?

STEUSNIhTOT STffshar /M B 7

What is Diazotisation reaction ?

hIE & STl AUEeH § e IRl & g9 %l TR X § 7

What are the expected products of hydrolysis of Sucrose ?

229

The sum of the powers of the concentration of the reactants in rate law

called ........ooe..... .

MM B9 9 STAY GhHYT Il Bl SAFEND [T e 2l

The general electronic configuration of inner transition elements is ......

K,4|Fe(CN)g | HEa a6 & ..o P U= B B

................ ions produced from complex compound K,[Fe(CN)g]| ?

P.T.0O.
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32.

33.

34.

35.
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CH3Br+ AgF — ..cooviiiiiin, + AgBr 1

crycHyon 2220 1
413K

CH;CH(CH3)CH,CH,CHO ARTH B ITUPAC AH ..o 2| 1

................... is the IUPAC name of the compound CH3;CH(CH3)CH,CH,CHO.

K3[Cr(Cy04); ] 8% AR@ ® [UPAC TM ..o Bl 1

.................. is the IUPAC name of the complex compound Kj3[Cr(C;,04)3].

fereT S @l | B A A 2l 1

......................... is the deficiency disease of Vitamin 'D'.



